BREERAREVMNICEENTL SRS EME O RIEFER —EF(H26.3.4~H26.3.31)

(BAfI:Ba/ke)

B EF H B i " % ® O i moOosH " % B

£ A | B|ATd)—| & # HE KE|HEHH KF|LIOAM3M D) L1372 7AEE
26 | 3 | 14 LWE | 5AFDES |— — ERET (&L — - —
26 | 3 | 14 LE | 5AFDES |— — ERET (&I — - —
26 | 3 | 17 ILWE | 5FDES |— — ERE |FEH — — —
26 | 3 |19 ILWE | 5FDES |— — ERET |RH — 24.97 24.97
26 | 3 | 19 ILWE | 5FDES |— — ERET L5 — — —
26 | 3 | 24 ILWE | SFDES |— — ERE AA 29.17 83.92 113.09
26 | 3 | 26 ILWE | SFDES |— — ERE |RH — — —
26 | 3 | 26 ILWE | SFDES |— — ERE | FEXK — — —
26 | 3 | 28 ILWE | SFDES |— — ERET |RH — 26.38 26.38
26 | 3 | 31 ILWE | SFEDES |— — FEm | ZR)IET 31.57 62.37 93.94
26 | 3 | 11 BE 8 — wesrr wn | [E| LET | IXEFE 20.11 21.82 41.93
26 | 3 | 14 R2E |f — HAIX |ERET LG 27.74 52.58 80.32
26 | 3 | 24 22X |f — HAIZX |ERET WE — 39.37 39.37
26 | 3 | 28 Fx |HIJLF |— — ERHET |#H — — —
26 | 3 | 26 Fxr |FEFiIbx — — ERHE |RH — — —
26 | 3 | 31 Fxr |FEFiIbx — — ERET KKPF — — —
26 | 3 | 18 FE Ly — — ERE | AEH — — —
26 | 3 | 28 FE Ly — — ERE /MR — — —
26 | 3 | 26 FE [ EHAKE — — ERHET |RH — — —
26| 3 | 6 Fx KB — — ERE |FEH — — —
26 | 3 | 28 FxRr KB — — ERHET |#HA — — —
26 | 3 | 28 Fx | KEBEE |— — ERHET |#HA — 4455 4455
26| 3 | 4 Fx K= — wswrie Aee | [ AT | 1L — — —
26 | 3 | 17 BE DEHE — — ERET &I — — —
26 | 3 | 18 Fx |Ht) — — ERE AEH — — —
26| 3 | 6 FxRr B — — SET Jb¥H — — —
26 | 3 | 14 FxE |Jova)— — — ERHET |#HA — — —
26 | 3 | 26 FxE |Jova)— — — ERHE |RH — — —
26| 3 | 24| ®Ffh XK= — neseii |[E RET | FRIL — — —
26 | 3 | 31 T | K= — — ERHET HHA — — —




BREERAEREYNICEEFATVWSHSTEMEDRIERHR —KEFR(H26.2.3~H26.2.28)
(BifZ:Bag/kg)

B E A B i ) % # O b m O % M B

£ A B|ATIV—| & # |&FE K B |[HEM| X F [tPIAM134£P0L137 £ LER
26/ 2 3| BE M — | BHAIF SAHT | FHEIE — — —
26| 2 |24 BHE [TV |— |— = RET &L — — —
26/ 2 | 5| ZOH %K —  |BX-235E |[ERET | KKF — — —
26 2| 3| BHE |mEHLIV|— |— ERET |AE — — —
26| 2| 3| EHE KR — |— [E R HET |/ — — —
26| 2| 4| BHE KB — |— EREr | BH — — —
26| 2| 3| FHE LT — = [E R HET |#H — — —
26/ 2| 5| BE |hLE — = = R ET | L% — — —
2602 7| BE BT — = ERET | BEH — — —
26| 2| 4| BE |YAZ — |- S YTHT — — —
26| 2| 5| BxE |YAZ — |- = R BT — — —




BREERAEREYNICEEFATVWSHSTEMEDRIERHR —KEFR(H26.1.6~H26.1.31)
(BifZ:Bg/kg)

Al E H B I3 ) % # O b m O % M B

F£ A B|ATI)—| & F | &TE K E|TEH| X F (L5134 L137 £ LER
26| 1| 6| RZE H — HAIX |ERET RHE — 43.07 43.07
26| 1| 6| FRE M “BE |HAZ|ERE | BEH — — —
26| 16| BRE |# EE HAZ |ERET | BEHE — — —
26| 1| 6| RE “BE |HAX|ERET BH — — —
26| 1| 6| HR=E | — HAIX |ERET RHE — 21.75 21.75
261 7| RBE |# — HAIX |ERET KKF — — —
261 7| RBE |# — HAIX |ERET BHE — — —
26| 1| 8| HRZE |H — HAIX |ERET FL — — —
26| 1| 8| HRZE |H — HAIX |ERET BHE — 24.24 24.24
26| 1|14 BR=E |H — HAIX |ERET /MR — 23.67 23.67
26| 1 14| BE | — HAIX |ERET B — 37.10 37.10
26/ 1 14| BE |f — HAIZ |ERET |AE — 31.84 31.84
26| 1 14| BE | — HAE |ERET | KKF — — —
26| 1|15 BRZE # — — [ R HET |#H — — —
26/ 1 16| BE |f — HAIZ |ERET (AE 24.80 49.80 74.60
26| 1 17| BE | — HAE |ERET | KKF — — —
26| 1 /20| BRE | — HAIX |ERET KREH 24.21 37.62 61.83
26| 122 BE M — HAIZE |ERET /MR 20.81 35.75 56.56
26| 1129 BRE | — HAIX |ERET |FHFWL — 20.14 20.14
26| 1 /30| BRE |# — HAIX |ERET E3 — — —
26| 1 15 FHE |FovY |— — [ RHET |#H — — —
26| 19| BE KR — — ERE | BEH — — —
26| 19| BE KR FRKIR |— ERE | BEH — — —
26| 1|15 ®E KiR — — (= RHET |#H — — —
26/ 1| 7| ZOfh XK= — — (= R ET | 1LE — 26.00 26.00
26/ 115 BFHx |ITALA |— — ERE BEH — — —
26| 1|15 ®xE BE — — [ RHET |#H — — —
26| 123 WE |5TFNDES | — — (= RHET |#H — — —
2617 Hx |[v—av |— — = RHET |BEH — — —
26| 1 HFx wWwEx |— — E RHT |JIIN — — —
26| 1 g% |YAZ — — (= RHET A — — —




Jilly

REHEREBEYPAICEFA TSRS EMEDAIERR —KEFRH25.12.2~H25.12.27)
(BifZ:Bag/kg)

B E B B i ) % # O b m O % M B

F RA|BATIV—| & # | @ FE K B |THER K F|EIIL134tT9 L1372 AEE
2512 2| =it | FIEE |— — = RET |RHE — — —
25 /12|10 Zzith FIEE |— — ERET X% 8 — — —
25 12|10 Zith FIEE |— — E RET &I — — —
251218 Zith FIEE |— — [E R ET | 1L — 20.75 20.75
2512| 2 | Zith /NE — — = RHET |5RHE — — —
25/12| 6 | ZDfth [/NE — — ERET | BEH — — —
251210 =0t /NE — — ERHET REH — — —
2512 10| Z0fh /NE — — E RET &I — — —
25 12| 11| BFxE  TARNIE |— — E RET &I — — —
25 1212 BHE BE — — S YTHT — — —
25012 2| BRE |# BE |— = RHET | &I — — —
2512 2| B=E |# — HAIX |ERET L — — —
25112 2| BE W — — (= RHET |#& I — — -
2512 3| B=E |#h — HAIX |ERET FIL — — —
25012 3| BRE |#h — — [E RHET | S EY — — —
2512 4| BR=E |# — HAIE |ERET | BE 21.66 42.99 64.65
2512 6 | BZE |#h — HAIX |ERET L — — —
2512 6 | BZE |#h — HAIE |ERET | KKF — — —
25/12| 9| BE W — — [E RHET |#&I — — -
25121 11| BE | — HAIX |ERET /MR — — —
2512112 BE | — HAIX |ERET RIERE — — —
251213 BRE | — HAIE |ERET AEH — — —
2512116 BE | — HAIX |ERET KKF — — —
251218 BRE | — HAIE |ERE |IXEFHE — — —
2512119 BE | — HAIX |ERET TR — — —
2512119 BE | — HAIE |ERET AEH — — —
251219 B=E |#h BE | bAF |ERET|FWL — — —
2512119 BE | IZE HAUIT |ERET | FHFLU — — —
2512119 BE |#h — HAIE |ERET | KKF — — —
2512120 BE | — HAX |ERET | JIIKN — — —
2512|124 BRE | — HAIE |HEET — 26.63 26.63
251224 B=E W — — HE™T — — —
2512|124 BRE | TRE HAT |ERE NS — 21.77 21.77
251224 B=E | BE | HiF |ERET AN — — —
2512|125 BRE | — HAIX |ERET TR — — —
2512|126 BRE | — HAIX |ERET /MR — — —
2512|126 BRE | — HAITE |ERET |FET — — —
2512|126 BRE |#h — HAX |ERET | JIIKN — — —
2512|126 BRE |#h — HAIX |ERET FL — 20.04 20.04
2512|127 BE |#h — HAX |ERET S — — —




Jilly

REHEREBEYPAICEFA TSRS EMEDAIERR —KEFRH25.12.2~H25.12.27)
(BifZ:Bag/kg)

B E B B i ) % F O i m O % M B

F RA|BATIV—| & # | @ FE K B |THER K F|EIIL134tT9 L1372 AEE
251227 BRZE |#h — HAIX |ERET |FEAF — 20.05 20.05
2512|127 B=E |# — HAIX |ERE |RHE — — —
251227 BRZE |#h — HAaIE (ERET |RE — — —
25121181 BE HMVYA — — = R AT | L& — — —
25/12( 27 WE FnZ AR |— E RET S 82.38 204.79 287.17
25/12| 2| BE |Fav1 |— — ERET 1XEFH — — —
25/12| 3| BRE Fav1 |— — ERET | KKF — — —
2512 4| BRE Favo14 |— — = RHET |BEH — — —
251220 BRE Fao1 |— — = RHET |JIIN — — —
251225 BRE Fao1 |— — E RET [JeBAF — — —
2512|271 BRE Fav1 |— — E RET [JeBAF — — —
2512 4| Z0ith E=E — — E RHET |RHE — — —
25 /12|10 Z0ith E=E — — E RET &I — — —
25 12|12 Zith E=E — — S YTHT — — -
251217 =0t E=E — — ERHE AEH — — —
2512| 3| ZOfth K IIEF BX [ R ET | 1L — 26.74 26.74
2512 3| =i EBR%E — — FEH |EILHET — — —
2512 2| %HFE KB — — = R ET |FHFIL — — —
2512 2| %HFE KB — — [ R ET | 1L — — —
2512 3| %HE KB — — E RET &I — — —
251213 %HE | KB — — [E RHET |81 — — —
251216 %% | KB — — [E RHET |/ — — —
25012117 %HE | KB — — [ RET | 1L — — —
2512|124 %HE | KB — Etrad |ERHET BH — — —
2512|125 %% | KB — — ERET | AEH — — —
2512 3| BHE | KBOE — — ERET &I — — —
25121 16| BHE | KBOE — — [E RHET |/ 22.24 26.39 48.63
25112 2| Z0fth XK= — — [E RHEr |RHA — — —
25/ 12| 4| =Dt XK= — — = RHET |RHE — — —
251210 Z0ith XK= — — E RET /M 26.31 32.15 58.46
25012 2| BHE % — — (= R ET | LE — — —
251224 HE BEAE |— — ERHT XEFH — — —
2512 9| HE |EF — — E RHET A — — —
2512120 HE |EF — — E RHT |JIIN — — —
251213 %FHxE [CALA |— — E RET &L — — —
2512 11| BHE ABAX — — = RHET |RHE — — —
2512113 HHE A% — — E RET &L — — —
25 12|24 HHE AX — — = R ET |FFIL — — —
251225 HHE AX — — ERET | ERH — — —
251212 Z0fh VTAE |— — SYTHT — 20.19 20.19




Jilly

REHEREBEYPAICEFA TSRS EMEDAIERR —KEFRH25.12.2~H25.12.27)
(BifZ:Bag/kg)

B E A B i ) % # O b m O % M B

F RA|BATIV—| & # | @ FE K B |THER K F|EIIL134tT9 L1372 AEE
251210 %HE Joya)—|— — ERET X% 8 — — —
2512 2| BR=E |&#hA — — fRE™ — — —
2512 2| BE | KE — — (= RHET | &I — — —
25012 9| %Hx |v—r |— — SET |$H — — —
2512 2| BR=E |97 — — E RET | S — 21.21 21.21
2512 5| BRE BT — — [E RHET |/ — 43.52 43.52
25/12| 9| BR=E |97 — — = RET | JBAF — — —
251210 BR=E |7 — — ERET | BEH 27.32 49.38 76.70
25 12| 11| B=E |97 — — E RET |tRiEm — — —
25012 2| BRE |YAZ — — = RHET | &I — — —
2512 3| BE YAZ — — ERET | S — — —
2512 3| BRE |YAZ — — fmE™ — — —
25112/ 6 | BE |YAZ — — = RET | 8T — — —




BRHEBRAEREVAICEEFNTOSIBSTEYE DRIERE R —EFR(H25.11.1~H25.11.30)
(B fi:Ba/ke)

H E B B E Y| F £ H b m o5 % % B

£ /8 B|h7d)—| & ¥ i i K OB |HETA| K F [EU9A134|v9L137 v LA
25|11 15| Zofh /NE — — ERHEr RH — — —
2511 12| Zofh /NE — — ERET &L — — —
25|11 1| Zoit /M2 — — ERHET &L — — —
2511 13| Zfh /NE — — ERHEr RH — — —
25|11 8| o /N2 — — ERHE &L — — —
25|11 6| Zith ooy — — ERHEr RH — — —
25/ 11| 5| BE |# — B ERE EFH — 23.77 23.77
2511 5| B/E |BEE — — ERHET FU — — —
25/ 11| 6 BE |# HH — ERHE KKF — — —
25 11 1 B W — — ERE SH — — —
25(11] 6 B W — — ERHE &L — — —
25 11|14 BE |# EE — ERHE KKF — — —
25 11 1 B W — — ERE SH — — —
25,1120 BE |# — — E R ET | FFL — — —
25 11|14 BE |# EE — E RHET |BH — — —
25 11/ 1 BE M — — [E R ET | 1L — — —
25/ 11|15 BE |# — — ERET 8T — — —
25 11| 8 BE M — — [E R ET | 1L — — —
25/ 11| 6 BE M — — [E R ET | 1L — — —
25(11] 6 B W — — HET — — —
251115 BZE |# — — [E R ET | 1L — — —
251127 BE |# — — E RHET #H — — —
2511 7 B W — — FE | Z)IIET — — —
25 11| 14| BE |# #E — [E R ET | 1L — — —
25/ 11|15 BE |# TE — ERE | XKF — — —
25 11| 14| BE |# BE — [E R ET | 1L — — —
2511127 BE W — — ERHE | AfH — — —
25/11] 6 BxE # — — HET — — —
251112 B=E |# — — BEHE BF™ — — —
25(11] 5 B W — — E RHT RH — — —
25 11|27 BE |# — — = RHT BRH — — —
25,1120 BE |# — — ERET &L — — —
251115 $HE |HAR — — [ RHT | L% — — —
2501127 BH/E |MEFdHv |— — ERHE H&H — — —
251119 BR=E |MYA — — = RHT BRH — — —
2511 (11| BZE |MYA — — ERE | XKF — — —
25 11| 8 2E YA — — = RHT BRH — — —
251118 BR=E |MYA — — E RHET &L — — —
251126 WWE |[EFD FAAAFaOIAD — ERHE |FFE — 37.09 37.09
25/11] 6 WE |Fn Lxz4 — E RHET &L — 46.66 46.66
251118 WWE |[EFD SOV AT — ERHEr RH 46.21 101.02 147.23
2511 11| LuE |ZFoZ AHRBT I\ A | — ZrET ¥ HE 76.07 168.97 245.04
25(11] 5 WE |Fn AR — = R HET | LLF 148.08 284.38 432.46
25/11] 6 WE |Fn AR — ERHET RS 194.00 426.18 620.18
25 11| 29| WWE |ZNC AR — ERET |JERF 207.55 468.38 675.93
25 11| 11| WE |[Z0C AR — BERE ALFHE 260.02 585.85 845.87
25|11 7 WE |EDC DA — FEH 28T 290.89 649.43 940.32
25,11 29| WWE |ZFNC + A3 — EELEAES 295.14 674.99 970.13
2511 8 WE |Fn AR — = R HET |#E K% 375.17 838.74 1213.91
25 1119 BHE |FovY  |— — ERET &L — — —
25|11 13| BE |Fa914 |— — ERHE X% HE — — —
2511 14| BE |Fa914 |— — ERHE KKF — — —
25|11 13| BE |Fa914 |— — ERHE X% HE — — —
251118 BE |Fa914 |— — ERET &L — — —




BRHEBRAEREVAICEEFNTOSIBSTEYE DRIERE R —EFR(H25.11.1~H25.11.30)
(B fi:Ba/ke)

Bl E A B E Y| F £ H b m o5 % % B

£ /8 B|h7d)—| & ¥ i i K OB |HETA| K F [EU9A134|v9L137 v LA
25 11|25 BE |Fao4 |— — ERHET &L — — —
25 11|12 BE |¥ao4 |— — ERHEr RH — — —
25 11|14 BE |Faoq4 |— — ERHE A& — — —
25 11|29 BE |Fao14 |— — ERHEr RH — — —
25 11|19 BE |Fao14 |— — ERE EfH — 34.07 34.07
25|11 |25 Zh | FAKA |— — ERHE |JIIN 22.38 36.82 59.20
251128 Zfh EF — — ERHEr RH — — —
2511 27| #Zofh EF — — ERE KB — — —
25,11 15| 0 |BE — — ERE | RHE 5445 95.90 150.35
251112 Zofth |k avkeh) BX-25%E |[ERET KKF — — —
251121 o |[* EFK 254 iaR — — —
25 11 21| ZOfh X aveAHY LK-255E UKBE [BMth — — —
251121 o |[* aseAhY) BK-254%F [{FEm | 2RI — — —
251121 o |[* aseAhY) LK-244F |{FET | ZR)IET — — —
25 11 21| ZOfh X aveAHY LK-255 |[ERET BH — — —
25|11 8| i (& hhaE — ERE tyEE — — —
25/ 11| 8 BE &3 — — E RHET | L% — — —
25 1115 BFE |[ZDFLE |— — ERHE BEH — — —
25 11 14| BFHE |SD2FVE |— — ERE AY — — —
25 11 13| BHHE |[ZD2FLE |— — ERHET /MR — — —
25|11 5| %HE BF — — ERE AR — — —
251118 %HxE BF — — E RHET | L% — — —
2511 12| %HxE BF — — ERHET &L — — —
25 1119 BFE |LedLty — — E RHET | L% — — —
2511119 %HE FF — — ERET 8T — — —
25|11 8| it BRA%S — — E RHET #H — — —
2511 13| HE KR — — = RHET /MR — — —
251118 HE | KR — — ERHE | A&H — — —
25,1115 BE |XiB — — ERET &L — — —
25/ 11| 5| BE |XiB — — E RHET |FZFLIL — — —
25,11 26| BE |KiB — — E RET X H — — —
25,1129 BHE |XiB — EHY E RHET #ARE — — —
25/ 11| 8| BE |XKiB — — ERET &L — — —
25,11 25| BE |XKiB — — ERET | S5 — — —
251118 HE | KR — — ERHE | AfH — — —
25 11|22 BHE |KE — — ZET | dLFHE — — —
25,11 28| BE |XKiB — — ERET |EH — — —
251129 BHE | KR — Rzl E RHET #ARE — — —
25 11| 12| BE |XiB — — ERHE BEH — — —
251119 BHE X — — [E RHT | LG — — —
25,1118 BE |XiB — — ERHEr RH — — —
251118 %HE | KR — — [E RHT | LG — — —
25(11] 5 FE KB — — ERHET RS — — —
251118 ¥HE | KEDE — — ERHE A&H — — —
251122 %HE | KEDE — — ZET | dLHH — — —
251128 Zih (XK= — — ERHEr RH — — —
251122 $H/E |FhE — — ERHEr RH — — —
25 11]13| B/E |FUHUE |— — ERHE | F&H — — —
25 11|19 BHE |[FUHUE |— — ERET &L — — —
25 11| 5| BE |FUHyox |— — = RHT |FFLIL — — —
25 1118 BHE |FUHUE |— — ERHE | E&H — — —
25 11|22 BHE |[L5H0A  |— — ZHT L3 H — — —
2511 8| ®HxE |EF — — ERET &L — — —

2511 1 BE EF — — E RHT &L — — —




BRHEBRAEREVAICEEFNTOSIBSTEYE DRIERE R —EFR(H25.11.1~H25.11.30)
(B fi:Ba/ke)

Bl E A B B ) F F R i B s % W B

£ /8 B|h7d)—| & ¥ & i ® OB |HEH K F [£29L134/ 49413749 AEE
251129 %HxE |K¥ — — E RET | 8T — — —
25 11| 11| BE |EF — — fmEM — — —
25/ 11)19| %HxE |K¥ — — E RET | 8T — — —
25 11| 5| BFHxE |[TALA |— — ERHET FU — — —
25 11|12 X |[TALA  |— — ERHE &L — — —
25 11 26| BFHFxE |ITALA  |— — ERE KB — — —
25,11 28| B|E |[RF — — E RHET |RH — — —
25| 11|25 BHE |HF — — ERET | =5 — — —
2511 8| B|E |hF — — ERHE &L — — —
2511 8| B|E |RF — — ERHE &L — — —
25,1122 BHE |[RFE — — E RHET |RH — — —
2511 25| BHE |AF — — ERE S — — —
251115 BHE |AF — — ERHE BEH — — —
2511119 BHE |AF — — ERHE &L — — —
2511129 BHE |AF — — ERHET R — — —
251126 TxE |AX — — ERET IREH — — —
25,11 28| BHE |AF — — E RET |H — — —
251127 HE BHE — — ERHE | AfH — — —
25/ 11]18| BHE |AF — — ERHE |RH — — —
25/ 11|12 BHE |AF — — ERE HH — — —
2511 6| BE |BF — — ZET dLFHE — — —
2511 13| HE BHE — — E RET /MR — — —
2511 8| BHE |AF — — ERET 8T — — —
251122 BHE |AF — — ERHE |RH — — —
25 1122 BHE |BF — — ZET dLFHE — — —
25 11| 12| Z0is E—Fvy |— — ERHEr RH — 25.77 25.77
251122 BH/E |AEFAE |— — E RET |RE — — —
25|11 11| BFE [Joval)— — — E RHET #ERE — — —
25 11| 5| BHE |[FhAE — — ERHE AR — — —
25 11|25 BHE |[FhAE — — E RHET &L — — —
25 1112 BHE |v—ar |— — ERE |RH — — —
25/ 11|25 BE BT — — TR — — —
25 11| 11| BE BT — — B — — —
2511 11| BE |7 — — ERET | KAF — — —
25/ 11|25 BE | — — ERHET T — — —
25|11 5| BE |[pd — — ERET | B — — —
251122 BE [ — — [ R AT | L — 20.82 20.82
25/ 11| 7| BE |7 — — = R BT |FKE — 21.03 21.03
25,1129 BE BT — — = R BT | 1L — 28.82 28.82
2511119 BE |7 — — [ R ET | 1L — 30.81 30.81
25/ 1129 BE | — — ERAET 1REE — 40.08 40.08
25111 20 BE YAZC — — = R HET |#E K% — — —
2511 25 BE YAZC — — = RHET /MR — — —
25111 13| BE YAZC — — ERHE | KKF — — —
251112 B=%E YAC — — ERHEr RH — — —




BRHEBRAEREVAICEENTOSHSTEYE DORIERE R —EFKR(H25.10.1~H25.10.31)

(B4 :Ba/ke)
B F H 2 J£3 3 =% Hh Ji3 m B
£ gl BlrFIv—] & # KB moE | K F t/%134 L& E
25|10 7 2x |HFU — — = RHEr EH 25.97
2510 4| Z0it |/NE — — = R Hr T =
25|10 | 28| Foih |[/NE — — = RHEr #FW =
25|10 29| ZFoih |[/NE — — = RHEr B =
25 10| 22| ZOih |/NE — — = R HET EH%B -
25 10| 31| Z0fh |/NE — — E RHEr RH 30.54 98.42
25| 10| 15 FxE | TRIRSE |— — = RHT A =
25|10 | 15 FE | HASE — — = RHEr BEH =
25| 10 | 28 B  |[1vwbIL — — = RHEr L1 =
25|10 7 B |[1vbIKL — — = RHEr RH =
25|10 4 HE &= — — = RHEr #FW =
25| 10| 10 HE &= — — = RHEr L1 =
25| 10| 17 B | Hh — = RHEr B =
25|10 | 17 B=E |f — — E RHEr 2ES =
25|10 | 17 B=E |f — E RHEr A£H =
25| 10 | 23 B=E |f “BE R#iL = RHEr FBAF =
25| 10 | 30 B | — — = RHEr [ip 53 =
25| 10| 15 B | ¥E — = RHEr RH =
25|10 1 BE |# %E — E RHEr L =
25| 10| 15 RE | — — = RHEr 1Lyl =
25| 10| 31 BE |f T#E Bl = R Hr (iP5 =
25|10 9 BE |# — — E RHEr %E =
25|10 7 RE | H BHL E RHEr L =
25| 10 | 28 BE |f — — = & HT A£H =
25| 10| 17 RE | Him — E RHEr #FW =
25|10 7 BE |# Him BEY E RHEr 1Lyl =
25| 10| 3 BE |# Him — = R &7 1REH =
25| 10| 21 RE | T#E — = RHEr (iP5 =
25| 10| 31 RE | Him BHL E RHEr (iP5 =
25| 10| 18 RE | T#E — E RHEr (iP5 =
25| 10| 17 RE | Him — = RHEr %E =
25| 10 | 21 BE |f — — = RHEr [E3:s] =
25| 10 | 30 BE | TE BHiL = RHEr (iP5 =
25| 10| 22 BE |# — BoE E RHEr RKKFE =
25| 10| 15 BE |# T — E RHEr RHE =
25| 10 | 23 BE |# BE BEHY E RHEr FEAF =
25|10 | 1 BE | Hi — E RHEr L1 =
25 | 10 | 21 BE |# R ERHH — E RHEr (iP5 =
25|10 7 BE | Hi — E REr XEH =
25| 10 | 24 BE |# T — E RHEr 1ZEH =
25| 10 | 28 B=E |# — — E RHEr FEAF =
25| 10| 8 BE |# Him — = R BT HH =
25| 10| 25 BE | — — B3] *H =
25| 10 | 24 BE |# T — E REr 1ZEH =
25| 10| 8 BE |# Hi — E REr RHE =
25| 10 | 28 BE |# — — = R BT B =
25| 10| 8 BE |# Hi — E REr L1 =
25| 10| 17 BE |# — — E REr (iP5 =
25| 10 | 23 BE |# R EHY E REr FEAF =
25| 10| 18 BE |# T — = R BT Ll =
25| 10 | 21 BE |# =EHH — E REr (iP5 =
25|10 9 BE |# Hi — = R BT 58 H =
25| 10 | 25 BE |# — — = R BT 3 =
25| 10| 15 BE |# Him — = R BT &M =
25| 10| 8 BE |# Him — = R BT il =
25| 10 | 25 BE |# — — B3t ¥H =
25|10 9 BE |# HHh — = RHEr L1 5 -
25|10 7 BE |#W Him EHY = R BT il =
25| 10 | 31 BX |# TiE = RHEr AHH =
25| 10| 8 BE |#W — — = R BT =k =
25 10| 7 B=x i — — = & ET e -
25| 10 | 28 BRE | — — = & ET MR =




BRHEBRAEREVAICEENTOSHSTEYE DORIERE R —EFKR(H25.10.1~H25.10.31)

(B4 :Ba/ke)

A F H 2 23 7] = T TR mosd M W B

A | BlATFIV—| & i i3 KR A K F e YAa134lv 9 L1378 9L EL
25|10 18 BE | HHh — = R HET BH - — =
25|10 23 BE | — — = RHEr EH - - =
25| 10| 28 BE | H — = RHEr B - - =
25|10 | 24 BE |f Hh — = RHEr X7 E - - =
25| 10 | 30 B=E |f HHh BHY = RHEr [ip 53 - - =
25|10 | 1 FE AR — — = R HET A - — =
25|10 | 15 FE AR — — = R HET A - — =
25| 10| 2 B]FE | HAS — — E RHEr BH — - —
25| 10| 10 FE |HhIFbe — — = RHEr IMR - - =
25| 10 | 28 FE |HhIFbe — — = RHEr W - - =
25| 10 | 23 FE |HhIFbe — — = RHEr T — — —
25| 10 | 23 WE  |Fnc AXH4 — ERE =R - - =
25|10 | 15 WE  |Fnc A3 — =TI BEM - - =
25|10 3 WE  |Fnc Skl — ERE tyEE - - =
25|10 9 WE  |Fnc — K AD — SEFNH — 42.56 42.56
25| 10| 18 WE  |Fnc AT — = RHEr X7 E 25.72 44.44 70.16
25| 10| 11 WE  |Fnc Skl — = R HET 2ES 69.55 48.62 118.17
25|10 | 17 WE  |Fnc IR INBTOAD | — = R HET A£H 32.64 65.01 97.65
25|10 | 11 WE |Fnc YR — =81 BA™ 37.85 73.09 110.94
25| 10| 8 hE |Fnc IR — =81 BA™ 35.80 77.56 113.36
25| 10| 3 hE |Fnc A)INF — EHE trEE 32.76 85.04 117.80
25| 10| 2 hE |[Fnc YR — B3l +H 65.44 90.22 155.66
25| 10| 8 WE  |Znc INBITOAD — E RHEr BHH 38.52 98.79 137.31
25| 10| 17 hE |Fnc VAT — = RHEr MR 47.99 107.24 155.23
25|10 | 10 hE |[Fnc —ARIAD — EHRE BA™ 101.36 248.40 349.76
25| 10| 7 hE |[Fnc DSRIRTAIAD — = R Hr AHH 111.82 256.49 368.31
25|10 4 hE |[Fnc TR — = RHEr A8H 262.35 590.05 852.40
25|10 | 3 (TTES - {(p '}?j/@?ﬁj S AFERE SAHET +H 920.68 1952.62 2873.30
25| 10| 28 WE |Fnc FrFAYLRT — SEIHT *H 1948.67 4320.98 6269.65
25| 10 | 28 FE |[FvRy — — = R HEr W - - -
25|10 | 22 FE |[FeRY — — = RHEr RH — - =
25|10 9 BE |[Fadq — — = RHEr %H - - =
25| 10| 18 BE |[Fadq — — = RHEr (iP5 - - =
25| 10 | 30 BE |[Fadq — — = RHEr RH — - =
25|10 4 BE |[Fadq — — = RHEr AHEH — - =
25| 10| 23 BE |[Fadq — — = RHEr T — — —
25|10 7 BE |[Fadq — — = RHEr W - - -
25|10 9 BE |[Fadq — — = RHEr AHEH — - =
25| 10| 18 Fx |ZEF — — = RHEr T — — —
25|10 | 17 2= E — — = R HET HEH - - =
25| 10| 25 FE |d—v — — = RHEr il - - -
25|10 3 FE |ZIF5 — — 28T BEA# - - =
25| 10| 18 FE  |PIRE — — = RHEr T — — —
25| 10| 24 FE |/E — — = RHEr X7 E - - =
25|10 7 FE |/E — — = RHEr T - - =
25|10 4| it X aveAhY %XK-255E |ERET 58H — — —
25|10 | 15| Z0ih %k avkehl) LK-255E |ERET AH — — —
25|10 10| Zmith X avkeh) BX-255E |ERHE RH — - =
25|10 1 2L ES avkeh) BX-245E |ERHET L1 - = -
25|10 | 23] Z0ih %k avkeh) BX-255E |ERHE BEH — — —
25|10 | 24| Z0ih |k — BX-245FE |ERHE [P - - =
25| 10 | 23 BHE |83 — — = R BT 1Lyl - - =
25|10 2 FE |EOFNE  |— — = RHEr L1 - - =
25|10 7 FE |EOFNE  |— — = RHEr RKKFE - - =
25| 10| 15 FE |EOFNE  |— — = RHT 5/H — — —
25| 10| 8 FE |&OFNE  |— — = RHEr (=354 - - =
25| 10| 16 BFiE (I D2FENE  |— BEEH = RHT A8H — — —
25| 10| 10 FE |S2FNE |— — = RHEr X7 E - - =
25| 10| 22 FE |EOFNE  |— — = R Hr RH — 36.34 36.34
25| 10 | 28 FE |BF — — = R Hr &L — — =
25|10 4 FE |BF — — = RHEr #FW - - =




E§$ﬁ§m%ﬁmmI:ﬁintb\éﬁiﬂq‘ﬁmﬁw;ﬂﬂ%ﬁ%—ﬁi(stj0.1~H25.10(.§;) )
H {37 :Ba/kg
A & H 3 B B " B

£ gl BlrFIv—] & # AE mE | KF ADUIN
25| 10| 9 Fxr |Ledng = R Hr S =
25| 10| 18 Fxr |Lednng = RHEr MR =
25| 10 | 30 HE |£H = R HET JIIA =
25| 10| 7 HE |£H = R Hr RH =
25|10 1 oM | BR% = RHEr [ip 53 =
25|10 | 4| ot BRE = RHEr 5T =
25| 10| 2 FE |K&B E RHEr HHA —
25| 10| 8 FE | KR E RHEr RH =
25|10 | 29 FE | KR E RHEr BEH =
25| 10 | 31 FE | KR E RHEr BEH =
25| 10 | 30 FE | KR = R HET JIIA =
25| 10 | 30 FE | KB = RHEr [ip 53 =
25| 10| 25 FE | KR = RHEr L1 =
25|10 | 24 FE | KR E RHEr T =
25|10 | 29 FE | KR E RHEr T =
25| 10| 25 FE | KR =3t *MH =
25| 10| 15 FE | KBx = RHEr BEH =
25| 10| 4 FE |bbHE = RHEr T =
25|10 | 15 HE |vEZE = R Hr BHE =
25| 10| 15 FE |FUHUE = R Hr BEH =
25| 10| 15 FE |D2BLbdE = R Hr BEH =
25| 10| 10 FE |2BLoE = R Hr IR =
25|10 | 10| Z0ih |(EL&LS = R Hr BEH 53.59
25| 10| 31 HE |EF = RHEr I =
25|10 | 15 FHE AT = R Hr BHE =
25|10 3 B |ICACA = R Hr JIIA =
25| 10 | 29 B |ICACA = R Hr T =
25| 10 | 28 FHE | BF = RHEr T -
25| 10| 8 FHE | BF E RHEr RH =
25| 10| 16 FE |BE = R Hr A8H =
25| 10| 21 FE |BE = R Hr RKKXF =
25| 10| 18 HE |BE E RHEr T —
25| 10 | 24 HE |BE E RHEr RHE =
25 | 10 | 28 HE |BE = R BT BHH =
25| 10 | 29 HE |BE E RHEr % =
25| 10| 25 HE |BE E RHEr L1 =
25| 10| 15 FxE |/ E RHEr % 23.56
25| 10| 7 FE |Bix = R BT T —
25| 10 | 30 BE [RES = R BT ite) =
25| 10 | 11 Fx |Joyay— E RHEr T —
25| 10| 18 Fx |Joyay— E RHEr =k =
25 | 10 | 21 Fx |Joyay— E RHEr JIIA =
25 | 10 | 21 FE | ShAE E REr JIIA =
25|10 7 B |FShAE = RHEr RKARF =
25| 10| 2 FE |HLOHD = RHEr RH =
25|10 4 FE |HLOHD = RHEr MR =
25|10 1 FHE |HEON E REr B =
25|10 | 1 FE |HLOHD = RHEr RH =
25|10 | 1 FE |HLOHD = RHEr EHE -
25| 10| 29 FE |WWF ESRZL) 3 =
25| 10| 7 FFE  UEE = & ET RKARF -
25| 10| 8 FEx |HER E REr JIIA =
25| 10 | 24 Bx |F3 = RHEr (iP5 =
25|10 7 Bx |3 = RHEr RH =
25| 10| 25 BE YAZ E REr RIEmE -
2510 22] B=E YAZ EZ: AKRFE —




BRHEEBRAEEVAICEFNTOIBSEYE O RIER R —EFR(H25.9.1~H25.9.30)

(BA{iL:Bg/kg)
B % B = J£3 ] £ HE T ¥ B
£ A B|hTaAV— & o K EE mE A K F w9 L1378 LA 5
25/ 9 110 EB=E [LvsL — — ERET [RH — =
25| 9 |17 B= |[1vBEL — — ERE |AEH — — =
25/ 9|5 BE 1WsIKL — — ERET |FERF — — =
25/ 9 12711 B=E [LvelL — — ERAT |[#EHE — - =
2519 130 B=E |[LvslL — — ERE |/MR - - =
25/ 9 18] B=E [Lv6lEL — — ERAT |[#EHE — — =
25| 9 |24 Fft [ HFK — — ERET |FBRF — - =
25/ 9 18] BHE LAITA |— — ERET |8 — — —
25/ 9 10| BHE LAITA |— ERET [FFH - - -
25/ 9 120 BE LVAITA |— ERHAT |BE — — —
25/ 9 13| HE LVLAITA |— ERE | KKF — - =
25| 9 118 BHx |#E — ERAT |FLWL — - =
25/ 9| 2 Hx B=E — ERHET T — — —
25| 9 17| BE [B=E — ERET |8 — — —
2519 27| BHE BE — RO ERET |FHFLL - - -
25|19 25| ®HE B=E — ERE |BH — — =
25| 9 |27 BE BE — ERET |[RH - - =
25/ 9 130 RE |# KEE ERET |#H — — =
25/ 9 124 EB=E |# — BOoZE ERE |#H — - =
25/ 9 125 B=E |# AREE ERHA /MR - - -
25/ 9 125 EB=E |# AFERELE ERET |BH — - =
25/ 9 130 B=E |# JIREAE ERET |#H — — —
2519 17| B=%E |#W ERET |JIIA — — =
251 9 12| BHE |HhiFbey |— ERET &L — — =
25| 9 |24 FHE | HEFde |— — ERE [ — - -
25/ 9 125 BHE |HhIFbev |— — ERET |AEH — - =
25/ 9| 6 FE HiFde |— — ERE [RHE — - =
2519 126 FHE |HhIFbev |— — ERET | LF — - =
25| 9 11| FE HiEFde |— — ERE [ — - -
251 9 12| BHE |hiFbey |— — ERE [BH — - =
25| 9 124 1LE |20 DIRZIRTAVAD |— =R 98.79 151.55
25| 9 30 UE [EDC —RAD — =EHE (BA™ 100.46 153.09
25, 9 130 W |Foc YOS AD — BRE BfAW 341.79 474.31
25| 9 | 24 WE |Fn —KRIAD — [E & HT 1116.05 1642.48
25| 9 10| HHE [EpdY — — ERE |#H — — —
25| 9 26| BE |E — — ERBT AR — - =
25| 9 18] B=E |E — — ERET |l — - -
25|19 13| BxE |E — — ERET | AHH — — =
25/ 9 /30| EBE=xE |E — — ERET |8 — — —
25| 9 30| BE |E — — ERE | KKF — - —
25/ 9|5 B E — — ERHE |RH - 22.29 22.29
25/ 9| 4 B = — — ERET |[RH — 25.94 25.94
25/ 9 24| B=E |E — — FEm | 2)IHET — 28.72 28.72
25| 9 |30 BFE |/DHAE — — ERET |[RHA - - =
25| 9 | 13| Zih [/NE — B5FE-RER [ERE NA — - =
25| 9 |30 Zih |[K&hh — — ERET |FHFLL — - —
2519 120 BHFE |SO0FWLE |— — SZrET - - =
25| 9 26| BHE IOFWLE |— — ERE | - - -
25| 9 18] BHE BF — — ERET |8 — —
25| 9 |17 E%i B¥ — — ERET [T — —
25| 9 |25 BpxE |BF — — ERET |8 — —
25| 9 30| ®HxE EBFE — — ERET |[RHA - =
25/ 9 125 BxE | BF — — ERET |JIIN - -
25| 9 | 26 |J.|§ LU=l |— — ERE | 25421 386.99
25/ 9| 4 FE Ledhlnd |— ®A ERHE |#H — —
25/ 9|13 E%;-Tz Lehng |— — ERE | KKF — -
2519 117| HBx % — — ERAT |[#EHE — =
25/ 9| 6 R |TuLH — — ERE |[FEHE — =
25| 9 | 24 IJ.IsTé TAFEN |— KRELEH ERET AHEH 955.60 1419.74




BRHEEBRAEEVAICEFNTOIBSEYE O RIER R —EFR(H25.9.1~H25.9.30)

(BA{iL:Bg/kg)
B % B B2 J£3 ] £ HE 5 M ¥ B
£ A B|hTaAV— & o K EE mE | K F w9 L1378 LA 5
2519 17| $HxE | KEDE |— — ERE |[FEHE — — —
25/ 9 10| HHHE |FEhF — — ERET |IXEFE — - =
25| 9 20| BHE FUHUE | — — ERET [T — — —
25/ 9 6 FR |[EO5H6L |— — ERAT LG — - =
25/ 9] 3 FE |[ES5EAZL|— — ERHET k5 - - —
25/ 9 26| EBEzxE [3 — — ERAT LG - - —
25| 9 |13 B=E |3 — — ERET AHEH - - =
25| 9 13| Bx= |3 — — ERE | KKF — — —
2519 120 BE (AT — — ERE |#H - - =
25| 9 |13 BE |47 — — ERET | KKF — - —
25/ 9 125 BE AT — — ERE |BEH - - =
2519 12| BHFE |ICALA |— — ERE [BH — — —
25/ 9 19| BHE | hFE — — ERHET T — — —
25/ 9 130 BHxE | hF — — ERET |#H — — —
25| 9 |20 BE |BAE — — ERHET |BH — - =
25/ 9 /30| i |BXK avenY 255 =2HE - - —
25/ 9 | 4| Z0fh BX aseAY 45 E = R BT — — -
2519 130 EHE |[/\DL — — ERET |HBEF - - —
25/ 9 |20 Zih |[(FBHAD  |— — ERET |BH 283.41 427.20
25| 9 | 11 BE (355 — — ERET |RH - — =
25/ 9| 2 BE (5ES — — ERE |[FEHE — - =
25/ 9| 3| #nih |&F — — ERET | LF — - =
25| 9 27| BHE HLOH |— — ERE [RHE — - =
25| 9 24| BHFE |HLOH |— — ERET XFH — — -
25| 9 27| BHE HLOH |— — BRE BfAW — - =
25| 9 17| BHFE |HLOHH  |— — ERET | LF — - =
2519 17| BE [S75VR |— — ERET  |FHFLW - — -




BEREEAREYRNICETN LIRS EMEDRERER —EFRH25.8.1~H25.8.31)

(B 43I :Ba/kg)
A E H 2 [£3 7] S £ H Hh M s M % B
£ B BlhFyay— £ W i fE 1K A& HETAT| K F |£2 94134/ €29 L1372 hEET
25/ 8] 6 BxE L6 LEL — — ERE AEH — - —
25|81 7 BxE & — EY E BB | FFIL - — —
25| 8] 1 X BE — — ERHE &L — — —
25,8 19| BH{HE (BB — — ERHE | KKF - - —
25 8 19| HE | HEFbe — — = R ET | L - — —
25| 8] 1 R | HiEbe — — ERHE &L — — —
25 8 27| HE | HhFbe — — ERHE RH — - —
25| 8] 1 R HiFbe — — ERHET #H — — —
25 8 26| FHE | HhFbe — — ERHE RH — - —
25| 8 15| FHHE |HhIFbe — — ERE S5 — — —
25|81 2 WE |[Fn — — ST FEE M| 1243.79 | 2808.10 |  4051.89
25| 8] 7 FE FwdY — — ERHET #H — — —
25| 8 19| BFE |Ep35Y — — E RHET | L% — - —
25| 8 15| HfE |EpdY — — ERHE ZFE — - —
25| 8 15| ZFDHh XK O ERY) | 245 - HMELIE |ZRITET (B — - —
258 15| Zih &K bR | 235 - BEWMEZIR |SITHT | B — — =
25/ 8|5 FE IRE — — = RET |FHFLLU - - —
25 8 26| HE |TOFEWE — — ERHE &L — — =
25/ 8|6 Fx Lz — — ERE X B - - —
2581 7| BE |LEF — — E R BkH — 35.51 35.51
25| 8 30| FE [Lehlndy  |— — e B - — —
25 8 30| HE |[Lodng — RE frE™ I — — =
25| 8| 7 FE  Ced L |— — = RHET #H - — —
25| 8 19| HE |[Lohlvy  |— — ERE HH — - —
25/ 819 FE LedlNy | — — ERE A8H — — =
25/ 8 15| FHE LehLE |— — ERE S — — —
25| 8] 2 FE  Ced LN |— — = RHET #H - — —
25| 8| 8 HE TuLH — — ERHET [T — — —
25,8 12| ®H{E  TuLHh — — E RHET | L - - —
25| 8] 2 FE TLH — — ERHET [T — — —
25/ 8] 9 HE | EhF — — ERET AEH - — —
25| 8 15| HE |EhF — — ERET | S5 - — —
25/ 8] 6 FE LOS5HBA — — ERHE AR - - —
25| 8 21| BHE |[&5EASL |— — ERHE | KKF - — —
25| 8 14| FHE |[&5EA2L |— — ERHE BEH — — =
25| 8 | 1 FE HAIL | — — = R ET | L% - — —
25| 8] 2 FE (LH5BAIL |— — ERHET RH - — —
25| 8| 8 FE HAIL | — — ERHET [T — — —
25| 8] 1 R |[LFE — — = RHET #H - — —
25| 8 19| HfE |[&FE — — = R BT | LW - — —
25/ 8|5 B (LFE — — ERE HAfFH — — —
25| 8 19| HE |&FE — — ERE BEH — - =
25,8 21| BxE & — — ERHE RH - - —
25/ 8 21| Bx |3 — — ERHET RH — - =
25,8 /19| BxE & — — (= R ET | L3 - - —
25| 8 27| BHE |BY — — ERE H&H - - —
25| 8 27| BHE BT — — ERHE RH — — —
25/ 8 29| BHE & — — E RET AR — - —
25 8 15| HxE LT — — ERHE ZFE — — —
25| 8] 1 Fx & — — ERET [T — — —
25| 8 21| HE |I2AIXK — — (= R ET | L3 - - —
25| 8 29| Zith | BXK — 234 E ERHE | KKF 31.65 50.01 81.66
25| 8 19| ®HE |E—7v — — ERHE | KKF — - —
25/ 82| BEx: Ub — — ERH RH — 21.02 21.02
25| 8 26| Fhih [UbhniE — — FEE — — —
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(Bi{iI:Bg/ke)
A E H 2 [£3 £ B M s M % B
£ B BlhFyay— £ W &R 1K A& HETAT| K F |£2 94134/ €29 L1372 hEET
258 22| HHE |TFRIE — — E RET | L% — - —
25/ 8] 6 FE | TFETE — — (= R ET | L5 - - —
25/ 8| 5| HHE TFRIH — — E R | #FIL — - —
25| 8 26| BE |5ES — — (= R ET | L5 - — —
25 8 21| BE [T5vHR)—— PAdN ERET RIERE — - —
25/ 8 |12| BxE [J)IL—AR)— — — ERHT B — — —
25|/ 8] 7 BHE | HLOD — — E RHET #H — — —
25| 8 26| FE |HLON — — ERE HHH — — =
25 8 14| FHE | HION — — ERHE &L — — —
25| 8 14| FHE |H&ON — — (= R ET | LW — — —
25 8 12| HHE | HLON — — E RET AR - — —
25/ 8] 6 BE | HLOH — — ERHE |JIIN — - —
25 8 14| FHE |HLON — — E RET AR - — —
25| 8 12| FE |HLON — — ERHET #H — — =
25,8 17 BxE % — — E RET AR - - —
25| 8] 1 BE # — — E RHET X7 H — — —
25,8 13| BZE %k — — ERHE AR - - —
25/ 8| 2| BE |#% — — ERHE RH — — —
25/ 8|5 FE boE& — — ERE ZEFB - - -
25| 8| 7 B2x YAZ — — ERHE | KKF - — —
25,8 21| BZxE YAZC — — ERE BEH — — —




HREEABREVRNICETNAh TLABSAEME D AIEHKR —EFR(H25.7.1~H25.7.31)

(BAf1:Bg/ke)

# % H = [£3 " % I w5 O M B

£ 8 Blprra— £ mn_ 1@ KOBE | THETH | K F |EP9A34 2P L1372 LB ET
25 7112 B=E HAT — — ZIrET [dt¥EH — — —
25| 7 | 17| ZDfth LvbhL — — tHE™ - - —
25 7111 BE WATA — — ERE IR — - —
251 7119 BE WLWAITA — — ERE (&L — — =
25 7129 BHE |LVAFA — — SInET | FEH - - —
2517131 BE WATFA — — ERE &L - — =
25 7 11| BHE VAFA — — ERHE L - - —
25 7125 BHE |LVAFA — — ERE |HE - - —
25/ 73 FE |LWAITA — — ERE L - - —
257 16| BE | — — EERE | FTHE — — =
2517 3| BE — — ERET T — — =
2517 4| BE — — ERET T - - —
2517 2| BE — — ERET W — — =
25| 7 |11 RE i — — ERET WL - - -
2517 122 BE — — ERET | XKKF — — =
25|72 RBE 4 — — ERET |RHA — — =
25|72 RE 4 — — ERE [ HAHEH - - =
25/ 715 BxE & — — ERET /MR - — =
2517 17| BE — — ERET AR — — —
25| 7| 8 BxE & — — ERET HHEH - — —
25| 7 (19| BE i — FL ERET /MR - — —
2517 3| BxE — — ERET FEFHE — — —
2517 | 1 £xX 8 — — ERET L — — —
25| 7|10 RE 4 — — ERE [ HAHEH - - =
257 17| BxE | — — ERET HHA - — =
25| 7|25 BRE i — FL ERE AA - - —
2517 | 1 £xX 8 — — ERET B — — —
25|72 RE 4 — — EFET |RHA - - =
25 7|2 £x 18 — — ERET T — 23.20 23.20
25/ 7] 8 £x 8 — — ERE H8H — 26.34 26.34
25 7| 1 £x 8 — WBEE-FY |BRET  FHB — 36.45 36.45
25/ 73| BxE — — I E¥EHE 34.05 49.29 83.34
25| 7 19| BE HE — — ERE &L — — —
2517 29| HE HE — — S IrET - — —
257 11| HE HE — — ERE A - - -
25| 7 24| BE HE — — ERET L — — —
25| 7 23] HE HE — — ERE H8H - - -
25| 7 1 FEr BB — — ERE &L — — —
257 26| BpE | HhIFB® — — ERE &L — — —
2517 19| BE |HhIFBe — — ERE &L — — —
2517 19| BE  |HhIFBL — — ERE &I — — —
257 31| BE | HhIFBL — — ERE FHE - — —
257 12| BE | HhIEBL — — ERE |RHE - — —
257 3| BHE |HhIFBe — — ERE IR - — —
25| 7 22| BE |FyRY — — ZIET MY H — — —
25|73 FE |EopdY — — ERE &L — — —
25 73| BHE |[EndY — — ERE /MR - - —
25| 729 BE |EwSY — — ERE S - — —
25| 7 16| BE |EwSY — — ERET /MR — — =
25 7 11| BHE  |EndY — — ERE &I — — —
25| 7| 8 FE |EopdY — — ERE &I — — —
25 7 119 BHE  |[EndY — — ERE &I — — —
25| 7| 8 xR |EpdY — — ERET | - — —
25| 7 | 24| BHE |FwdY — — ERET L - — —
25| 7 25| BHE |FwdY — — ERET L - — —
25 7] 1 FE FodY — — ERET  XEFH — — =
25| 7 /16| BE |Ew3Y — — ERET  |FHFWL — — =
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25 7 26| EpE  E=wdY — ERE |HE - - —
25 7 24| BHE  EFwdY — ERHET |l - - —
25 7 16| BpE  |Z=wdY — ERHE |RHE - — —
25 7 16| BE  |Z=wdY — ERET HHEH - — —
25 730 EpE  EFwSY — ERE S - - —
25 7 12| BHE  EFwdY — ERE L - - —
25/ 73 FE |EopdY — ERHE L - - —
25| 7 1 FE |EopdY — ERE L - - —
25 7 12| BHE  EFwdY — ERHE |FHWL - - —
25 7 /18| BE  FwdY — ERHE /MR - - —
25 7 17| BHE  EFwdY — ERE X - - —
25 7 16| BpE  |ZFwdY — ERE | H8H - — —
25 7 11| BHE  EFwdY — ERHE /MR - - —
25 7 17| BHE  EFwdY — ERHE |RHE - — —
25 7 26| EpE  |EFwdY — ERE L - - —
25 7] 1 &%x U= — ERHE |RHE - — —
25| 7 1 BE XKBAlF — S IrHET - - —
25 7 11| BE |LLES — ERE L - — —
25| 7 24| BE |LE — = R ET - - —
25| 7 1 FE Lednt  |— ERE FHFH — — —
25| 7 | 1 R |[Ledhng | — ERE (&L — - —
25 7 119 BHE Lehlny  — ERHE |RHE - — —
25 7 17| BHE Lehlny  — ERE (&L — - —
25 7 16| FHE [Lehlny — ERHE |RHE - — —
2517 19 BE |[Lehld | — ERE FHFH — — —
25 74| BHE Lehlny  — ERE H8H - — —
25 7130 FHE Lehlny  — ERE | RHE - — —
25 7 16| FE [Lehlny  — ERE H8H - — —
25| 7| 8 FE |[Ledhntg |— ERE &L — — —
25| 7 16| FE |[CehLNdy | — ERE &L — — —
25 7 11| BE [LehlnNd | BE ERHE &I — — —
25| 7|18 BE [CehLdy | — ERE  |HH - - —
25| 7|17 BHE [Cedhdy | — ERHET | - — —
25 7 12| BHE Cedhlny — ERE RHE - — —
25| 7 22| BHE CehLNdy | — ERET /MR - — —
25| 7|18 BE |[CehLdy | — ERET | HEH — — —
25| 7| 2 FE Loy | — ERE HH — — =
25| 7 |11 BE [Cehdy | — ERHET | - — —
25| 7|19 BE [CehLdy | — ERE |RHE - - —
25 7 110 FHE Lednty  dtHHhY ERE |RHE - — —
25| 7|18 HE [CedLNdy | — ERET /MR - - —
25/ 7129 BHE [Ledhlny | — ERE S - — —
25| 7|22 FHER [CedLNdy | — ERE HH - — —
25| 7|16 FE [CedLNdy | — ERE H8H - — —
25 7 11| HE Ledhunt | dkHhhy ERE &I — — —
25 7] 1 FE [Lednt  |— ERE &L — — —
25 78| BHE [Ledhlny  |— ERE  |FHFW - — —
25| 7 |24 FER |[CedLNy | — ERE &I — — —
25| 7 |11 BE [Ceddy | — ERE |RHE - — —
25| 7 |11 BE [Cedhdy | — ERE IR — — —
25| 7 124 BHE [Ledhlny  |— ERE | - — —
25| 7|16 FE [CedLNdy | — ERE  |FHFW - - —
257 |31 BE [Lehlndg | — ERET kB - — —
25 710 HE Ledhnty BE ERE |RHE - — —
25 7| 2 FE Lodhny  [rk—o1—> ERE HHA - — —
2517 129 BE [LehlnNdg | — ERET  |FHFWL - — —
2517 129 BHE |TuLH — ERET (T — — —
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A Bl|hTay— & # mn_ 1@ KOBE | THETH | K F |EP9A34 2P L1372 LB ET
7117 FE [ TuLH — — ERET (fET — — —
7129 FHE FLH — — ERE (&L — — —
7123 FE FLH — — ERET HHH - — —
729 BHHE RAyF—= |— — ERET | FHW - — —
701 MEAIS O — — ERE S - - —
701 TEAIS O — — ERE  FHFH - 24.83 24.83
7] 1 W |[=Fnc — — ERE AA 28.65 55.91 84.56
710 WE |[fEHFOZ — — ERHE /MR 57.61 94.35 151.96
712 WE  |f=Hnl — — ERE /MR 204.04 393.21 597.25
7117 i =2 — — HEM - - —
7125 WE |[F=FEIETF | — — =Em b 54.94 81.18 136.12
70126 WE |[F=FEIETF | — — ERHE /MR 68.17 116.48 184.65
7031 BE EFLEFE — — ERE FHFH - - —
7016 PR EFhEFE — — ERHE |FHWL - — —
701 R | EhF — — ERE &L — — —
7019 BE EFhLEFE — — ERE FHFH - - —
7 11| BE A ELE — — ERHE |RHE - — —
7122 BE A EhEFE — — ERE |HE - — —
7,8 BHE | FEhF — — ERET T — — —
7,18 BHE | FEhF — — ERHE /MR — — =
73| BHE D5LH8FE | — — ERE IR - — —
7122] BHE DHLLHIE | — — ERET  FEHE - — —
7124 FHE HEAL | — — ERE L — — =
7123 FHE HEAL | — — ERE AR - — =
7,30 FHE HEAL | — — ERE S - — —
78| FHE HEAL | — — ERHE | KKF — — —
726 FHER EHEAL | — — ERE S - — —
724 FHE HEAL | — — ERE (&L — — —
70122 BE O (&S5HAIL | — — ERE  |JIA — — —
716 FHE |LFE — — ERE &L — — —
73| BHE |LFE — — ERE  FEXE — — —
712 BHE |LFE — — ERHE L — — —
710 FHE |LFE — — ERET | FHWL — — —
73| BHE |LFE — — ERE |JIA — — —
731 FE |LFE — — ERE &I — — —
719 FHE |LFE — — ERE RHE — — —
7017 BHE |LFE — — ERE RHE — — —
78| BE AT — — ERE AR — — —
7017 BHE |HT — — ERE XK - — =
719 HE (AT — — ERET T — — —
716 FHE |HT — — ERET L - - —
7122 BxE 4T — — ERET  E&HE — — —
7 11| BE AT — — ERET L — - —
7] 2 FEr |GT — — ERE |RHE — — —
718 BHE LI — — ERE |#H — — —
711 BHE O |HT — — ERET T — — —
7125| HE (BT — — ERET  EHE — — —
75| HE 4T — — ERET L — — =
7130 $HE (AT — — ERET S — - —
7129 HE (BT — — ERET S — - —
710 HE |HT — — ERET L — - —
7025 BE LT — — ERE |#H — — —
7.8 Fx LG9 — — ERET T — — —
7117 HE |GT — — ERET L - — —
7017 HE LG9 — — ERE |RHE - — —
7016 BHE (BT — — ERET  |FHFWL — — —
71 Fx LG9 — — ERET (T — — —
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£ 8 Blprra— £ mn_ 1@ KOBE | THETH | K F |EP9A34 2P L1372 LB ET
25| 7 23| HE BT — — b N Niil — — —
25| 7 /16| BxE AT — — ERE |fET — — —
25| 75| BE |7 — — ERET RHE — — —
25| 7| 1 FE LT — — ERE L - — —
25| 722 WE 3447 — — [E| & BT 24.17 66.10 90.27
25| 7 17| HHE I — — ERE X - - —
25 7 17| %HE |ITALA — — ERE (&L — — —
250 7] 4 FE |ITALA — — ERE (&L — — —
257 16| BF|E |EF—<v — — ERHE |FHWL — - —
25 7 11| BHE E—<v — — ERE |HE - — —
25| 7| 8 ¥E E—<v — — ERE (&L — — —
25/ 719 FE UbE — — ERE L - - —
25/ 75 £ Ub — — ERE |HE - — —
25|77 4| BE Ub — — ERET EHE — — —
25/ 7] 2 £ Ub — — ERHE |FHWL — - —
25/ 75 £ Ub — — ERE |RHE — 22.65 22.65
25 78| BE Ub — — ERET  |FWL — 23.34 23.34
257 12 B |[Ub — — ERE | H8H — 28.41 28.41
2517 19 BxE |[Ub — — ERET AH8H 28.47 66.53 95.00
25 7 12| BHE |[TFERE — — ERET  EHE — — —
25| 7 12| BE |TFrIE — — ERET L - - -
25 7129 BRZE [TS5yHN)— — — ERE |RiE — — —
25| 7 1 CE RPN — — ERE H8H — — —
25/ 713 CE RPN — — ERHE | XKKF — — —
25 7] 2 CEIRPSIN — — ERE | H8H — — —
25/ 7] 8 B JIL—Ay— — — ERE H8H — — —
25 7122 BHE | HLHD — — ERE A - — —
25 7 125 WIE | HLHH — — ERE |HE - - -
257 22| BE (A0 — — ERE &L — — —
25| 7 129 EHE (AQY — — ERET T — — —
25/ 73 BE  # — — ERHE | KKF - - —
25 7 16| B=E |k — — ERE &L — — —
25 7 25| BZE %k — — ERE HH - — -
2517 17| BZE B — — ERET XX — — —
257 31| EBxE |8k — — ERET AH8H — — —
2517116 BZE |[#k — — ERET /MR - — —
25| 7|22 BE B — — ERET (fET — — =
25 7 16| B=E |k — — ERE AR - — —
25| 7 19 BHE |[EOANAY | — — ERET T — — —
25| 7 22| BHE |EOANY | — — ERE  |HH — — —
25| 78| BHE |[EANY — — ERET EHE — — —
25 7 18] BHE LAR — — ERE  EH — — —
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2516 19| Zooih | BE — — = R ET T — 26.99 26.99
25| 6 12| Fih | BFE — — = R AT BRH — 41.42 41.42
25,6 28] BE HAT — — = R BT BRH - — =
25| 6 25| BE |HAT — — = R AT ZE B — - -
25,6 26| BE HAT — — = RET (iP5 - — -
2516 4 C N - — — = R ET (iP5 — - =
2516 13| BE |[1\vuT — — FEmH RIFHET — - =
25/ 6 26| FHE |LWAITFA — — = R BT RH — - =
25| 6 24| FHE |LWAITA — — = RET AEH - - =
25| 6 21| FHE |LWATA — — = R BT RH — - =
2516 /13| LUE |5& — — ZHTHT +H - - =
25| 6| 26| B=E |is — — = R BT JIIN — - —
2516 |17 B=E i INE | — = R Hr RH - - =
2516 17| B=E |# — — = R AT BRH — — =
25/ 6 |20 BE |is — — = R BT BE - - -
25| 6 | 28 B2x i — — [= & T RH — — —
25| 6 14| BE |i5 INE | — = RET T — — —
25/ 6 14| B=E i — — = RET A — - -
25| 6 13| BE |is — — = R ET BRH — - =
2516 27| BE |# — — = R HET Ly — - —
25| 6 11| BE |is — — = R ET BT — — —
256 24| BRE i — — = RET T — — —
25| 6 11| BE |iF IMNE | — = R Hr L - — -
25/ 6 |12| B=E i — — = RET #ZFW — - -
25| 6 14| BE |iF IME | — = R HET ES — — —
25/ 6 19| BE |if IMNE | — = R BT T — — —
25| 6 20| BE |is IMNE | — = R Hr RH — - —
25/ 6 |13| B=E i — — = RET A — - -
25| 6 13| BE |is IMNE | — = R Hr RH — - —
256 24| BE ¥ — — = R ET RH — - =
2516271 BE | — — = RET MR — - =
2516 17| BE |i8 IME | — = 5= BT (iP5 — — -
25/ 6 (26| BE |is IMNE | — = R HET JIIR — - =
25| 6 | 21 BE |iB — — = R ET &H — - =
25| 6 13| BE |is — — = R HET &L — — —
25/ 6|18 B=E |#8 IME | — = R AT 5T — — —
25| 6 17| BE |is IMNE | — = R ET - - -
25| 6 10 RxE |8 — — = R ET JIIA - — -
256 14| BE | — — = RET LI 15 — - =
25/ 6|25 BRE i — — = RET T — — —
25/ 6 10| BE |is IMNE | — = R HET JIIA — - =
25| 6 17| BRE | — — = R ET 1Lyl — — =
25| 6 |24 BE |is — — = R HET HH - - =
2516 17| BE |i8 IMNE | — = & BT %A — - —
2516 13| BE | — — = R AT LI 15 — - =
25| 6 | 21 BE |iB — — = R ET & — - =
2516 (27| BE |is — — = R BT BRH - - =
25| 6 18| BE |i5 — — = R ET LLI 15 — - -
2516 24| BE ¥ — — = R AT LI 15 — - =
25| 6 | 11 BE |iB — — = R ET RH — - =
25/ 6 19| BE |is IMNE | — = R HET R H - - =
25| 6 18| BE |iF — — = R HET &1 — — —
25/ 6 20| B=E |i5 IMNE |— = R HT RiEE - — -
25| 6 (26| BE |i5 — — = R ET RH - - =
25| 6 20| B=E |iF — — = R AT B — - =
25/ 6|25 B=E i — — = RHEr (iP5 — - —
25| 6 14| B=E |#F — — = R AT 8T — — —
25| 6 12| BE |i5 — — 3R BT — — —
256 18| B=E |#F IMNE | — = R AT B — - =
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B % B B2 [£3 Y] £ B B i w5 M %M B
£ A B|hTaAV— L& fn 18 1K g B & | K F [v29Ah134/ 229 L1372 0B ET
2516 (25| B=E |iE — — = R ET E%EB - — -
25| 6 | 12| B=xE |#5 — — = R ET b Val - — —
2516 13| B=E i — — = RHEr E%EB - - —
25/ 6| 4 BE i '8 |— ZrHr FEG - - =
25| 6| 7 BxE i IMNE | — = R HET LLI 15 — — =
2516 17| B=E |# — — = R AT R H — — =
2516 27| B=E i — — = R Er E%EB - — -
2516 |12 B=E |i5 IMNE | — = R AT T — — —
25| 6 21| BE |is — — = R BT T — — —
256 13| B=E |[# — — = R ET (iP5 — - =
25| 6 18| BE |is INE | — = R BT BE — - =
2516 21| B=E |i5 IMNE | — = R ET K — — —
25| 6 20| BE |is INE | — = R Hr AEA — — —
25| 6 | 27| BE |#E Mg |— = R ET b Val — — —
25| 6| 3 BE |iE '8 |— = R HET RH — 20.88 20.88
25| 6 12| BRE |#8 — B 235 = R ET 5T — 21.65 21.65
25| 6 | 28 BE |8 — — = R ET ZFH B — 23.97 23.97
25/ 6 13| B=E i — = R AT +*H — 23.97 23.97
25/ 6|5 BxE | IMNE | — = R HET LLI 5 — 24.12 2412
25/ 6 26| BRE i — B = R AT (3] — 24.93 24.93
25| 6 |19 BE |18 — — = R ET ZEH B — 25.39 25.39
25,6 14 WE |55 — — =R 4 EHET — — -
25| 6| 4 HE 55l — — = RET L — - =
25| 6 [ 21| FDh Az — — Frih AT - — -
256 12| BE A5 — — = RET BT — — —
256 12| BE [Frvy — — = R HET LI 15 — - —
25| 6 |12 E FoRy — — = R ET LI 15 - - -
25| 6 |28 E FpoY — — = R BT T — — —
25| 6 |19 E Z=w5Y — — = R ET LI 15 - - -
25| 6 | 27| BHE |FEpdY — — = R ET AEH - - =
25| 6 | 27 E%; =w5Y — — = R HET LI 15 — — =
25,6 18| BFE |EwpdY — — [=| & BT (iP5 — - =
25/ 6 11| BHxE  |[ZpdY — — = R HET &L — — —
2506 11| B FwoY — — = R ET b Val — - =
25| 6 |24 E ZpoY — — = R HET &L — — —
25/ 6| 5 FE TpdY — — = R ET RH — — =
25| 6 | 24 E%; ZpoY — — = R ET R — - =
25| 6 | 21 E%;TZ FwoY — — = R HET RH — — =
25/ 6 21| BHE  |[EedY — — = R HET L - - =
25| 6| 7 E%;E SJ)— F—R |— — = R BT LLI 5 — — =
2516 12| oo |BE — — = RET BRHE — — —
25|/ 6 |10 BE K= — — = R ET BRE - - —
25| 6 | 3| Fo XK — /FE-BWELE |[FET 21 H7 - — -
25| 6 | 20| Fih |[HKsHH — — = R T B 24.03 36.72 60.75
25610 BE [ XHKoAIR — — = R AT R H — — —
256 13| BE | XKbAlZ — — = R ET 1Ly 5 — - =
25|/ 6 | 3 BRE |KbAlF — — = R AT REH — — —
25| 6 |12 BE XbAlF — — = R ET AEH — - —
25,6 20| ZOih [FEDE — — TEHE Ba™m — - =
25| 6 |17 E%;re H—_—LER |— — = R HET T — — —
25/ 6 | 5 FE |TPZAES  |— — = R ET BH — - =
25| 6| 3 E%;i: SPRAES  |— — [=| & BT Bk E — - —
25| 6 | 27| FDih [ILWDE — — = R HET B — 38.16 38.16
25| 6 28] WLE [LLM=IF — KTCEREL-IREE =FE — - =
25| 6 |27 FHE |[LehLrd — — = R AT AEH — — —
25| 6 | 27 E%i' Cehilr — — = RET 2EN — - =
25/ 6 21| FHHE  |[LehLd — — = R AT FLU — - -
25| 6 | 24 E%i' Cehilr — — = RET BEHE - — =
25/ 6 18] FHE |[LehL b — — = R BT 8T — — —




BRHEEBRAEEVAICEFNTO IS EYE O RIER R — K FK(H25.6.1 ~H25.6.30)

(BA{L:Bg/kg)

B % B = J£3 Y] £ B B i w5 M %M B

|8 B|hFI)V—| & ¥ fn 18 1K g B & | K F [v29Ah134/ 229 L1372 0B ET
25| 6 27| FHER |[LehLrd — — = RET b VNl — — =
25| 6 17| FHHE |[LehL b — — = R AT LI 15 - — =
25| 6 24| FHER |LehLrd — — = RET HH - — =
25| 6 24| FHE |[LehLrd — — = R BT BH — — —
25| 6 28] FHE |LehLrd — — = RET LI 15 - — =
25,6 20| EFE |LehLrE — — = R BT Bk — — —
25| 6 24| FHER |LehLrd — — = RET T — — —
25,6 24| FE |LehLrE — — = R ET (iP5 — - —
2516 17| $FHE Xydx—= — — = R HET A - — =
25| 6 14| HFHE | Xyx—= — — = R BT 5T — — —
25| 6| 7 }FE |Z5FH — — = RET LI 155 - — =
2516 11| BxE | XK — — = R AT &I — — —
256 24| BHE KB — — = R Hr #FW — - =
25|/ 6 12| BHE |[KE — — = R ET BT — — =
25/ 6 17| FE | KB — — = R BT JIIA - - =
25,6 19| ZO#h | K= — — = R ET T — — =
25/6 | 5| Foith | XK= — — = R ET 1L — 39.59 39.59
256 12| ZOO#h | K= — — = R ET & H 24.75 49.03 73.78
25| 6 |25 WE |0 — — = R ET FE%H — 32.03 32.03
25/ 6| 3 W |[=Fnc — — = R HET — 36.02 36.02
25| 6 |25 WE |f=HDC — — = RET BT 25.62 56.63 82.25
25/ 6|5 W  |[=Fnc — — = R ET AHEH 59.88 95.80 155.68
25| 6 27| HE |FhLF — — = RET AEH — - —
25| 6 19| HHE |[FhF — — = R BT A8H — — —
25| 6 13| HHE |FhLF — — = RET xR H — - =
25/ 6 | 12| BHE |FhF — — = R BT LLI 5 — — =
25| 6 10| $HE |FhLF — — = RET LI 15 - — =
25/ 6| 6| FHE |FhF — — = R BT A8H — — —
25| 6 20| HHE |FhLF — — = RET P H — — —
256 | 4| BHE FhF — — = R BT A8H — — —
25| 6 19| HHE |[FhLF — — = RET LI 15 - — =
256 (24| HE  FhF — — = R BT T — — —
25| 6 11| HHE |[FhF — — = RET LI 15 - — =
2516 27| HE FhF — — = R BT <A — — —
25| 6 24| HFHE |[FhF — — = RET MR — - -
2516 |17 HE  FhF — — = R BT <A — — —
25| 6 21| HHE |[FhF — — = R ET = — — =
25| 6 28| FHE |FhF — — = R BT EH%EB - - -
25| 6 11| HHE |[FhF — — = R HET &L — — —
25| 6 10| BHHE |FhF — — = R BT T — — —
25| 6 21| HHE |[FhF — — = RET ZE B — - -
256 24| HE |FhF — — = R HET £ 3] — — —
25/ 6|5 EIEX AT — — = R AT MR - — =
25,6 17| BE | FLT — — = R ET 2ES - - =
25| 6 14| HFHE |[FhF — — = R BT &L — — —
256 12| ZOith |RX=E — — = R ET B H — — —
25/ 6|5 Fxr |PEFE — L MAH = R HT BH — — —
25,6 28| B¥E DAL nsE  |— — = R ET Bk H — — —
256 24| BE |[DBHLLHIE | — — = R AT R H — — —
25,6 26| BE (BT — — = R ET RH — — —
25| 6 21| BHxE 4T — — = R HET ZE B - — =
256 24| HE LY — — = RHEr T — — —
25| 6 24| HHE LT — — = R HET R H — — —
25| 6 17| % |9 — — = R ET JIIA - - =
256 21| BE |HT — — = R AT RH — — —
25,6 14| BE |IZH — — = R ET MR - — =
25| 6 |24 BHHE [ICAIK — — = R BT 8T — — —
256 27| BE |IcAIK — — = RET P H - — =
256 [17] BHHE [ICAIKL — — = R BT 8T — — —
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|8 B|hFI)V—| & ¥ fn 18 1K g B & | K F [v29Ah134/ 229 L1372 0B ET
25,6 26| BE [IcAIK — — = RET RH - — =
256 17| HHHE [ICAIKL — — = R AT R H — — —
256 11| BE [/\wY — — = R ET BRH — 70.77 70.77
25/ 6| 4 TERRN — — = R AT LI 15 - — =
25|16 | 4 HLE |5F — — = RET RH - - —
25| 6 | 14| UE |AF — — = R ET Ly U — - —
25| 6| 7 MTEES — — = RET BRH - — —
25| 6 | 21| UE |AF — — = R ET e — 46.05 46.05
2516 21| BPE |~BE — — = R BT RH - - =
2516 /20| BFE |~BE — — = R AT ik E — — =
256 17| F0ih K HEK |— = R ET REN - — =
2516 |21 HE |BpILE — — = R ET e - — —
2516 27| BZE |SANY— — — = R Hr B — — =
256 24| BE [5oFk — — = R ET 5T — — —
25| 6| 4 WiE ol — BIRERH = RET — — =
25 6| 7 ITEE o110 — BREEFEH SEENWT - — —
25| 6| 7 WiE ol — BIRERH = RET MR — 21.27 21.27
25| 6 14| WLUE |[HoU — HREFH et 20.73 21.80 4253
25/ 6| 6 WiE ol — — =1 BAT 24.74 51.31 76.05
25161 6 LE | Hol — — EEL) INR 42.32 78.11 120.43
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(Bi{ir:Bag/ke)
# %® H ) E ?m e EE R w85 M W% &
F£| 8 BlhTsad)—| & W fn fE K BE BT & | K F [t A134/ 49 L1137 v LA E
25| 5 |14 FHE |[Fhs — — = R ET AH — - =
25| 5| 2 Fxr HLEE |— — [ & BT L1 — — -
25/ 5|7 Fx |[TRNS — — = R ET B - — —
25/ 5| 8 FE |[TARNS — — E3LZK:) RH — — -
25| 5129 BE [LvwD — — E3RZX:) Ly 1§ - - —
25/ 5 30| BEZE L2 — — [ & BT kM — — -
25| 5129 BE [LvwD — — E3RZX:) LI % - - —
255 28] RBZE L2 — — [ & BT L1 — — -
25| 5121 BE [\l — — E3RZX:) RH — — —
255 28] BZE L2 — — [ & BT RHE — — -
25| 5129 BRE [LW\sLEL TELWELEL |— = R ET P, Yl — — -
25| 5 14| Zoih |HFK — — [ & BT L1 — — -
25| 5 23| WE |5IF — — [E| & BT 1L 5 — — -
25| 523 WE |5ZF — — E3LZX:) i H — 30.80 30.80
25/ 5|9 hxE  3E — — E3RZX:) A5H — — =
25/ 5 15| LUxE [5& — — [ & BT RHE — — -
25, 5| 1 i |5& — — E3RZX:) LI 1§ - — —
255 13| WE 5& — — SYTHT — — -
25/ 5| 8 i |5& — — E3RZX:) A&EH - — —
255 17| WE 5& — — = & BT kM — — -~
25|/ 5| 7 i |5& — — = R ET 55T — — —
25| 5| 1 IxE |5& — — = & BT B — — -
255 13| WLE [5& — — TEHE =R =Yl — 32.84 32.84
255 29| BRZE |iB — — = & BT #FL — — -
255 28| R=E i — B 245 E L= Tit] X#H — — -
25| 515 BE |if I — ESRZL:) [iipN53 — — —
25| 5 30| RZE i IME — = R ET StEAZF — — —
255 17| WE |55 — — =2HE =R =] — — -
255120 uE [5BWL — — [ & BT A8 H — — —
25520 WE [55WL — M THEH FEH NN — — —
255122 WE [5BL — — = R ET &L — — —
25529 WE [55WL — — = & BT JIIA — — —
255 21 WLE [5BL — — [ & BT 1L 5 — — -
25| 5| 1 R 550y — — = & BT INR — — -
255 15 WWE [55L — — [ & BT 1L 5 — — -
255 13 WE [55WL — — = & BT L1 — — -
25/ 5120 uE [5BWL — — [ & BT P, Nl — — —
255 |14 WE |55 — — = & BT JIIA — — —
255 13| WE 55 — — et — — -
25/ 5| 8 I 550y — — = & BT i, 57 — — -
25| 5 23| ZDith HHDE — — [ & BT kH 55.41 61.14 116.55
25529 HE |HhA — — = R ET 8T — — —
25/ 5| 8 Fxr FF — — = R ET i H — — —
25| 5130 FHE |[FrRv — — = B BT % H — — =
25, 5|30 FHE |Frvy — — E3LZX:) P, Yl — — -
25 5 |24 FHE |[FrvY — — = R ET ¥, Yl - — —
25 5|29 HBHE |Frvy — — E3LZX:) &L — — —
25| 5130 FHE |[FrRv — — = R ET 8T — — —
25| 527 HE |FrRvy — — E3LZX:) &L — — —
25| 5 31| HE |[FrRv — — = B BT W — — -
25/ 5|21 BHE [Ty — — FEmH 21| BT — — -
25| 5129 BHE |[FrRv — — = R ET 8T — — —
25/ 5|9 Fx |y — — E3LZX:) &L — — —
25| 5 31| HE |[FrRv — — = B BT ik H — — =
25 5|27 BHE |FrRy — — E3LZN:) P, Yl — — —
25| 5| 1 Fx KB — — = R BT MR — — —
25| 5| 1 IE |SCH — — [ & BT kM — — -
25| 5| 1 IE |CCH — — = B BT BE 22.15 42.10 64.25
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(Bi{ir:Bag/ke)

# F H ) E ?m e EE R M5 M M '

F£| 8 BlhTsad)—| & W fn fE K BE BT & | K F [t A134/ 49 L1137 v LA E
25/ 5] 2 E |[IZH — — = R ET /MR 69.79 120.42 190.21
25/ 5|9 IE |ZCH — — =R BA™ 74.77 128.95 203.72
25| 510 WE [ZZH — — ZrHET 234.40 433.95 668.35
25| 5 14| WE | SLHESS |— — [ R BT (PN 53 — — -
25/ 5| 7 WE [SLhrss |— — = 8 208.11 418.37 626.48
25/ 5|9 wWE [CLhSs |— — 1= KR 243.75 418.22 661.97
25/ 5| 8 WE [SLhrss |— — =EHE t 4 EHT 471.52 830.30 1301.82
25/ 5| 8 IWE |[SLHSAS |— — =2HE BA™ 491.80 943.84 1435.64
25| 5| 7 W3 [CLhpSs |— — = R ET 1L 1173.63 2317.92 3491.55
25| 5 | 14| $HxE |/IE — — [ & BT &L — — —
25, 5|22 BpFE |/IAE — — E3RZX:) RH — — =
25| 5 16| $xE |[/IAE — — = R ET i H — — —
25| 5| 7| Foih K — — FEH 21| BT — 22.00 22.00
2515 |21 BHE |SPIAES — — FEH 211 BT — — .
25| 5123 FHE |[SPZAED — — E3RZX:) Ly 1§ - - —
2515 |27 HE |SPIAES — — = R ET &L — — —
25520 BHE |SPRALES — — = R ET LW — — =
25|15 |27 HE |SPIAES — — = & BT (PN 53 — — —
255 |24] HxE |SOZIAES|— — [E| & BT &L — — —
251520 FHE |SPIAES | — — = & BT L1 — — -
251527 BHxE |[SOIAES | — — E3RZX:) N - — —
255 |24 HE |SPIAES — — ESRZL:) &L — — —
25| 5|20 FHxE |SPOZAES|— — E3RZX:) RH — — —
255 |23| HE |SPIAES — — FEH 21| /T — — -~
25,5 20| BHE |YS54% |— — [E| & BT 1L 5 — — —
25| 5|30 HE |SAEFEDH |— — = & BT kM — — —
25, 5| 1 W [LuLv=lr — — TEHE =kl 365.72 693.13 1058.85
255 20| UZE |LLM=IT — — = & BT A&H 520.72 975.33 1496.05
25| 5|27 £ [LLH — BftE E3RZN:) AEH — — -
25| 5 28| Znih [LLA — 5&it = & BT A&8H — — =
25/ 5|20 UE |LEF — — E3RZN:) /N — — -
25| 5|17 LWZE |LEF — — =2HE =E=Is;] — — -
255 31| Hx FF — — = R ET #ZUW — — —
25| 5|29 HxE |HF — — = R ET &L — — —
255 7| WE |FAFEN |— — A t 4 50T 94.96 184.80 279.76
25| 5|17 BHxE | XiE — — = R ET 8T — — —
25| 5 16| WE |fz+DC — MTEH E3RZN:) RH — — -
25| 523 WE |zt |— — = & BT kM — — —
25/ 5| 8 ITEI S N — L= Tit] T — — -
25/ 5| 7 ITEI S — HEHEHE — — -
25| 5 13| WE |fz+dC — — E3RZX:) BH — — -
25/ 5|9 ITEI S - — = B BT W — — -
25/ 5| 8 WE  [f=Fnl — — E3LZX:) ZEH — — —
25, 5|10 WE |zt — — = R ET ZEH — - -
25/ 5|9 TES o N — [ & BT L1 — — —
25/ 5| 8 ITE S - — = R ET =3 — — -
25/ 5| 7 TES o N — [ & BT I — — -
25| 5| 1 ITE S - — = B BT i, 57 — — -
25| 5122 WE [zt |— — [ & BT RH — — -
25| 5| 2 ITE S - — = R ET 8T — — —
25| 522 WE |fz+DC — — E3LZX:) A8H — — —
25/ 5| 8 ITEI S - — = R ET =i — — -
25| 5 13| WE |f+DC — — = R BT A&H — 21.74 21.74
25, 5|10 WE |zt — — = R ET 1L 5 — 26.93 26.93
25| 5 | 21 WE  [f=Fnl — — E3LZN:) ZEH — 28.35 28.35
25, 5 |17 WE |zt — — ZrHET +H — 31.65 31.65
25, 5 |14 WE |fz+o — — E3LZK:) P, Yl — 38.98 38.98
25/ 510 WE |+ |— — = B BT ZEHE 20.16 22.82 42.98
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# F H ) E ?m e EE R M5 M M '

F£| 8 BlhTsad)—| & W fn fE K BE BT & | K F [t A134/ 49 L1137 v LA E
25/ 5|13 WE |zt — — = R ET RH 23.14 48.10 71.24
25/ 5|7 E  |=Fnc — MTEH E3LZN:) B 23.97 47.79 71.76
25/ 5 21| WE |[fzHDZ |— — ESRZL:) A8H 25.14 47.29 72.43
25/ 5|7 E  |f=Fnc — — SZrET 24,08 53.84 77.92
25| 5| 21 WE  |f=zlFrnc — — E3RZX:) 30.25 56.98 87.23
25| 520 WE |[fzHtDS | — MTEH HEHEHE AL FRET 35.49 72.92 108.41
25/ 5|7 WE  |[f=lFnc — — 2R BAmH 70.36 110.81 181.17
255 24| HE  FhF — — [ & BT &L — — —
25| 5 31| BHE |[FhF — — [E| & BT LW — — -
255 30| HHE  FhF — — [ & BT &L — — —
25/ 5 21| BE |FhFE — — = 7 ET [t 53 - - —
25| 5| 1 ITE <YOF S — = R ET B — — -
25| 5| 2 W |[=50F |— — E3RZX:) RH — - —
25/ 5| 2 WWE  |[=60F |— — =] & ET i H — — -
25| 5| 1 TERN O B — = R ET =i — 21.29 21.29
25| 5 17| WWE |[fz6MDF |— — E3LZK:) LI 22.26 28.77 51.03
25/ 5] 9 W |[F=603F — — = R ET EH&H 4421 66.63 110.84
25/ 5| 2 WE  |E=o0xF | — — = & BT &L 84.33 139.30 223.63
25/ 520 LWE |[f=60F |— — TEHE =kl 109.62 195.24 304.86
25/ 5|7 WE  |E=o0xF | — — = & BT L1 5 114.08 225.28 339.36
25/ 5|7 W [ E5% — — E3RZX:) — 28.85 28.85
25| 5| 7 wE  |[EYHL — — HEHE — 30.33 30.33
25/ 5| 7 wE  (EUHL — — E3RZX:) 29.81 60.60 90.41
25| 5 10 WE |[EVUhHL — — SZrET 46.24 112.11 158.35
255 17| HE EhF — — S YTHT FE 5 — — =
25| 5 13| HE |ERF — — SYTHT — — -
25/ 517 E EhF — — E3RZX:) Bk H - - -
25/ 5| 9| E Eh&F — — ESRZL:) ®miT — — -
25/ 5 120 BHE |IH — — [ & BT 1L 5 — — —
25/ 5| 7 FE |1 — — = & BT &L — — —
25/ 5| 8 FE |IZH — E3RZN:) RH — — —
25| 5 13| Znih BXK O ERY) 245 E-HWELIE [(SEERT — — —
25 5| 2| Zoith BX aveRn) |— [E| & HT — — -
25/ 5 | 7| ot BX LY [ REEH HEHEHE AL FRET — — =
25| 5 10| Zfth BXK — 244 21| BT — — =
25| 5 31| Zofh [[FBHD | — E3LZN:) AH — — =
25 5 |24 ZMh |[FBEHD | — — E3RZN:) f8H — — =
25| 5 15 1UZE |5F — — = & BT i, 57 — — -
25| 5 14| UE |[A=F — — = R ET 5T — — —
25| 5| 1 IE (A — — E3LZN:) ¥, Yl — - —
255 16| IUZE A= — — = R ET #ZFW — — -
25/ 5|9 TEIRES — — = R ET 1L 5 - - -
25| 5 17| UE |[5F — — E3LZX:) kM — — —
25/ 5| 8 IE (A — — [E| & BT ZEH - - -
25,520 UE |5HF — — E3LZX:) kM — — -
25| 5| 1 ITE R — — = B BT i, 57 — — -
25/ 5] 9 TR — — = R ET = — — —
25| 5128 1UE |5F — — = B BT RHE — — —
25| 5 |15 UE |5F — — E3LZX:) P, Yl — — -
25| 5 15 UE |5F — — = B BT RHE — — —
25| 5 |17 WE |5F — =R t4~ BT — — —
25/ 5|7 IWE |5 — — HEHEHE — — -
255 17| LWUE |AF — M THEH = R ET L1 — — -
25| 5 | 21 TEIRES — — = R ET AH — — —
25/ 5 10| LUE (A= — — = R ET = — — —
25| 5120 1UE |5F — M THEH = B BT RH — — -
25| 5 | 31 IE (A — MTEH E3LZK:) ZEH — — —
25| 5| 2 TEIRES — — = R ET i E5d= - - -
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(Bi{ir:Bag/ke)

# %® H ) E % Hh EIE

F£| 8 BlhTsad)—| & W moE M X w9137 £ LhEET
25/ 510 1UE [5F = & BT #ZFUW -
25| 5120 LUE |5F FEH -
25| 5 13 1UE |5F = B BT ik H =
25| 5 17| 1LE |[5F [ R BT L1 —
25| 5 14| WiE |5F E3RZX:) JIIN —
25/ 5130 LUE |[5F [ & BT kM -
25| 5127 1UE |5F FEH 21| BT —
25| 5 15 UE |[5F [ & BT RHE -
2515 29| uE |5F E3RZX:) JIIN —
25| 5 13 UE |[5F SYTHT -
25/ 520 UE |[5F E3RZX:) BEH -
25, 5|22 UFE |5HF E3LZK:) MR -
25|/ 5 13| iE |5F E3RZX:) 71.27
25| 5 14| HE |[[FShAE = R ET &L —
2515 17| HE |[F5hAE SEITHT *H —
25, 5|30 HE |H#DFE [E| & BT i H 21.80
255 16| $E |STavia = R ET PHE -
25| 5 13| BE |YAZ = & BT RHE -~
25/ 5 31| WE bHoy W R KR -
25/ 5| 8 ITERE o T>10) =2HE AL FRET -
25/ 5|7 T3P oT=16) [E| & BT 1L 5 -
25| 5 |14 WE |HoU FEH 21| ET -
255 23| WE bHoU TEHE t 4 EET -
25| 5| 1 ITERE o T>10) = & BT B -
25/ 520 WE |[bHdU [E| & BT H8H —
25| 528 WE |HoU IR KETH -
25/ 5 15| WE bHov [E| & BT BH —
25/ 5|9 ITERE o T>10 = & BT 58H -~
25/ 5120 WE |[bHBU FEH RIFET -
25| 5 13| WE  bHov FEH -
25| 5 13| WE |HhoUy» E3RZN:) LI 1§ —
255 21| WE  bHov = & BT AKFE -
25/ 5| 7 wWE | Hol FEH EILET -
25| 5| 1 ITEE oY) = & BT HH =
25/ 5| 8 wWE | Hol E3RZN:) BEH —
255 27| WE  bHov SYTHT -
25, 5| 1 WE | Hsl E3RZN:) /N —
25| 5 10| WE  bHov mem SFL —
255 13| WE bHov FEH 21| BT —
25| 5 20| WE  bHov FEH -
25/ 5| 7 WE | Hsl E3RZX:) RH —
25/ 5| 2 WE | Hol = R ET AH -
25| 5 13| WE |HoU» =] & HT -
255 7 wE | Hs = B BT 1L 5 -
255 20| WE bHoU S YTHT +H —
255 21| WE  bHov =1 =R Y] 40.99
25/ 5 10| WE bHov e [EaR s 46.41
25| 5 |14 WE |[HdUV = R ET MR 46.94
25| 520 WE |HoU E3LZX:) 1N 84.98
255 27| WE  bHoY HEHEHE =1 107.90
25| 5|23 WE |HoU E3LZX:) A8H 133.86
25| 5 |15 WE |[HdU = R ET HHA 201.12
25| 5 | 21 ITEF o110 FEmH EILHET 284.84
25/ 5| 8 TP sT>Y0N = R ET AH 297.97
25| 5 | 21 ITEY o110 2R =kl 753.16
25/ 5 20| WE bHhoy =8 BaH 1120.43
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(B{:Ba/ke)

H E B = [£3 7] e I w5 M "M B

£ A H|ATd)— & fn fE K gE HmETd K F [+29h134[4 9 L1372 AEE
25 4] 3 Hx |Fx — — ERE RH — — —
25| 4 15| Z0# /MNE — — ERE &L — — —
25| 4 |19 FE |[TRINT  |— — ERET |JIIA — — —
25| 4 | 22 FE TARINT  |— — ERE |fHXH — — —
25| 4 | 22 FE TR |— — ERET BH — — —
25| 4| 8 hE | 5CF — — ERE |FHFLL 37.32 66.31 103.63
25| 4 12 WE 52 F — 4EE-AFE  |ERET L 155.57 297.32 452 .89
25| 4 |15 E  |S5CF — — ERE |FHFLL 48.39 41.93 90.32
25| 4] 16 wE  [5CF — — ERE HfH 35.20 52.06 87.26
25| 4 |15 hE  5& — — ERET HHH — — —
25| 4 | 18 hxE  5& — — ERHE X — — —
25| 4 | 18 hE  5& — — EHE BET — — —
25| 4| 25 wE  5& — — ERET WL — — —
25| 4|30 hE  5& — — ERE S — — —
25| 4 |30 hxE  5& — — ERE RH — — —
25| 4119 hE [55L — — ERE |RH — — —
25| 4 | 26 s 55L — — ERET | L — — —
25| 4|30 hE 55 — — ERET | L% — — —
25| 4 | 30 hx  55L — — ERE ZEFHE — — —
25| 4119 HE |Ha — — ERE |JIIN — — —
25| 4] 4 HE HMaihE — — ERET &L — — —
25| 4|15 R HiainhE — — ERE HHH — — —
25| 4 | 16 B Hinx — — ERE RH — — —
25| 4 |17 R HiainhE — — ERET | LF — — —
25| 4 | 22 HEx HMihE — — ERET &L — — —
25| 4|25 FE HihE — — ERE BEH — — —
25| 4 | 26 B Hinx — — ERET BH — — —
25 4] 1 FE |hblLE |— — ERET | LF — — —
25 4] 4 FE |hblLE |— — ERET |FHFWL — — —
25| 4110 HE TRy | — — ERE |RH — — —
25| 415 HE [Ty |— — ERET &L — — —
25| 4] 24 HE TRy | — — ERE |#H — — —
25| 4 | 25 FE TRy — — ERE |#H — — —
25 4] 1 Fx [KFfH — — ERET /MR — — —
25| 4] 4 R | KEfB — — ERET RH — — —
25| 4] 5 Fx [KFfH — — ERET &L — — —
25 45 HFx KB — — ERE KKF — — —
25| 4] 5 Fx [KFfH — — ERET #H — — —
25| 4| 8 HFx KB — — ERET #H — — —
25 4] 9 Fx [KFfH — — ERET | — — —
25| 4 | 12 B |KEfB — — ERE /MR — — —
25| 4] 15 Fx [KFfH — — ERET &L — — —
25| 4 |17 FxE KEFEB — — ERE |FHFL — — —
25| 4] 22 Fx [KFfH — — ERET |RiEmE — — —
25| 4|30 FxE KEFEB — — ERE &L — — —
25| 4 |15 hE |[ZZH — — ERHE | KKF 29.63 43.23 72.86
25| 4 | 22 W |SSH — — FEmH | EWHET — — —
25| 4 |23 hE |[ZZH — — ERHE | KKF 57.98 98.25 156.23
25| 4 |30 WE |[ZSH — — 2B |ERIRET 28.94 56.51 85.45
25| 4 |30 hE |[ZZH — — ERET E&H — 21.28 21.28
25| 4 |25 WE (Sl sd |— — ERE | KAFE 1013.80 1816.58 2830.38
25| 4| 26 LWE [SLhss |— — ERE HHEH 541.78 945.25 1487.03
25| 4|30 WE  |CLhbSs |— — ERE RH 57.32 125.46 182.78
25| 4|30 WE [SLhss |— — ERE HHEHA 591.58 1207.55 1799.13
25| 4|30 WE  |CLhbSs |— — FEm )8 57.32 133.20 190.52
25| 4 |30 WxE  |CLHSs |— — =EHE BAT 44491 890.49 1335.40
25| 4] 4 FE  IMAE — — ERET | L — — —
25 4 |17 ZF0ih X ateh) BX(Q4FE) |ERET LE — — —
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H E B = [£3 7] e I w5 M "M B

g A B|ATII— & i N HETA K F |t 94134/ €29 L1374 AEET
25| 4 25| Fomih [X% avERY BXQ4FEE) |[ERHE — — —
25| 4 | 25| Foih X aveH) |ZXKQaERE) |ERHET — — —
25| 4] 4 WE L=l |— — ZrEr dcFH 1003.28 1799.60 2802.88
25| 4] 9 W (LWv=1F  |— — ERET | L 209.15 389.59 598.74
25| 4 |23 W LLv=1+ | — — ERE B 42556 756.50 1182.06
25| 4 | 26 W LLv=1+ | — — ERE |fHXE 121.95 231.74 353.69
25| 4 |30 W LLv=1+ | — — ERET | LG 81.77 184.04 265.81
25| 4 |30 W LWv=1+ | — — ERE |#H 28.09 55.00 83.09
25| 4 |17 Hx |FF — — ERE |JIIN — — —
25| 4 |10 FE | XIE — — ERE RH — — —
25 4] 17 FE  KEDOE — — ERE |JIIN — — —
25| 4119 ITEIS I - — ERE RH — — —
25| 4 119 TE S - — ERHE X 26.38 39.71 66.09
25| 4 |23 wE |zt |— — ERE |fHXE — 35.52 35.52
25| 4 | 26 wxE =l | — — ERE T — 23.42 23.42
25| 4 | 26 wWE |zt |— — ERET XEH — — —
25| 4 | 30 WE |kl |— — ERE KKF — — —
25| 4 |30 wE =l |— — ERE B 22.70 4152 64.22
25| 4 | 19 WE  |[=603F  |— — 2HE BAT 24.68 38.77 63.45
25| 4 | 22 WE  [fo0xF | — — ERE | 43.83 78.98 122.81
25| 4] 23 ITE CYOF B - — ERET S5 — — —
25| 4 | 24 WE  |f=603F  |— — ERE /MR — 27.87 27.87
25| 4 | 24 WE  |[=603F  |— — ERET E&H — 21.41 21.41
25| 4] 26 ITEN =DYOF i — =EHE BET 35.25 62.96 98.21
25| 4 |30 WE  [f60F | — — FEm 18T 31.89 65.49 97.38
25| 4 |30 WE  [fo0xF | — — FEm 28T 42.06 88.97 131.03
25| 4 | 30 WE  |[=603F  |— — ERET ANE — 20.90 20.90
25| 4|30 ITEN =DYOF i — ERE RH — —
25| 4 | 30 WE  |[fF=o0F |— — ERE RH 28.15 60.20 88.35
25| 4 |30 WE  f=o0xF | — — ERET E&H — —
25| 4 | 30 e YO i — ERE |#H — 48.00 48.00
25| 4|25 BE |[FUHUE |— — ERET #H — — —
25| 4 | 30 WE  |E5K 7R |— ZWET mFH — — —
25| 4 |15 FEx RKF — — FEH |Z)IET — — —
25 4] 4 FE |EDTE — — ERET S5 — — —
25 4] 9 S E N — — ERET &L — — —
25| 4 | 22 R |Ib — — ERE |#H — — —
25| 4|23 S E N — — ERET | LF — — —
25| 4 | 26 FE |ICALA |— — ERET BEH — — —
25| 4] 18 HE |EHSU  |— — =HE BRH 20.21 21.34 4155
25| 4 119 L |AF — — ERET &L — — —
25| 4] 22 E A= — — ERE &I — — —
25| 4|23 L |AF — — ERET | LE — — —
25| 4] 25 E A= — — ERE AR — — —
25| 4 |30 WE  |[AF — — ERE FEFHE — — =
25| 4 |30 WE |5 — — ERE |RH — — —
25| 4|30 L |AF — — ERE |#H — — —
25 4] 8 WE (| 5EFDES |— — ERE AR — — —
25| 4] 4 FEr HxF — — ERET | L — — —
25| 4 12 FE [FSNAE — — ERE /MR — — —
25| 4 |15 FE [FOhAE — — ERE &L — — —
25| 4] 26 FE [FSNAE — — ERET #H —

25| 4 | 19 Fx |HDOE — — ERE HHEH — 23.79 23.79
25| 4 | 11 HENPS -3 — — ERE /MR —

25| 4 | 15 WE  |Hhsv — — ERET AHEH — — —
25| 4] 16 ITEE YN — — ERE |FHFL — — —
25| 4|18 WE  |Hhsv — H2415:& 1+ 2WE tyEE — — —
25| 4119 ITEE 10N — — ERE AR — — —




BREEABEVANICEFEFNTOSHEMEME DORIERER —E & (H25.4.1~H25.4.30)

(B4 :Ba/ke)
iE [£3 I R m B
A ATdU— & T Hh i HETA K F |t 94134/ €29 L1374 AEET
4 ITEE e =YY — — ERE HHEHA — — —
4 ITEEs YN — — ERET S5 — — —
4 ITEF o 110 — — ERE BH — — —
4 T s TN — — ERE S — 28.39
4 WE | hHhot — — ERET AR — — —
4 LE | Hhol — — = R ET — — —
4 1T sT=Y0N — — ERE |RH — 24.56
4 TR s TN — — ERE | KKF 163.19 508.72
4 WE | hHhot — — =2HE BAT 21.06 52.15
4 LE | Hhol — — FEm UM — — —
4 WE | bHhot — — FET 28T — — —
4 TR s TN — — SZrET 25.67 49.74 75.41
4 WE  Hol — — ERE /MR — — —




